
SELF STORAGE HALLWAY SYSTEM WITH DOOR FLUSH HEADERS & M-PANELS (FIXED WALLS)
8’-4” FINISHED HALLWAY HEIGHT

7.5 - 11.5

2.25
0.5

1.75

STD SIZE= 9.5”       HEIGHT

FRAME HGT= 8’ 4”

DESCRIPTION 

22 GAUGE  

GLOSSY WHITE

SINGLE
ROLLUP FRAME1

16.5 - 24.0

2.
25

1.751.75

STD SIZE= 20”         HEIGHT

FRAME HGT= 8’ 4” 

DESCRIPTION 

22 GAUGE 

DOUBLE
ROLLUP FRAME2

0.5

2.25

0.5

DESCRIPTION 

22 GAUGE  

FLUSH
HEADER PANEL3

16.0 - 24.0

2.25

1.75 1.75

STD SIZE= 20.0”     HEIGHT

FRAME HGT= 8’ 4”

DESCRIPTION 

22 GAUGE 

DOUBLE
SWING FRAME

4

7.5 - 11.5

2.25
0.625

1.75

STD SIZE= 7.5”        HEIGHT

FRAME HGT= 8’ 4”

DESCRIPTION 

22 GAUGE 

SINGLE
SWING FRAME

5

BASE CHANNEL DETAIL9
Three fasteners per Double Frame typical -
24” O.C. for �xed walls

MPI M-PANEL
¾” RIBBED PANEL

36” COVERAGE

6

2”

2”

CORNER POST
7

STORAGE SIDE

OVERLAP

COLOR

HALL SIDE

M-PANEL 
OVERLAP DETAIL

8

(HALL SIDE)

SINGLE FRAME

INSIDE
CORNER ANGLE

THIS SIDE OF ANGLE SITS
ON TOP OF THE TOP CHANNEL,

NOT BEHIND IT.

TOP
CHANNEL

INSIDE CORNER DETAIL
11

Attach Inside Angle with #10 x ¾”  TEK screws from
top to bottom at 2.0’, 4.0’ & 6.0’ increments.
Attach Starter Angle with #10 x ¾”  TEK screws from
top to bottom at 2.0’, 4.0’ & 6.0’ increments.

BASE/MIDSPAN CHANNEL
13

Attach to Floor at 24” O.C. (Fixed Walls)

3.
62

5

2.375

2.
0

ST
O

RA
G

E 
SI

D
E

H
A

LL
W

AY
 S

ID
E

TOP HAT CHANNEL14

3.
0 3.0

OUTSIDE CORNER
15

TOP HAT CORNER DETAIL
10

Attach Inside Angle with #10 x ¾”  TEK screws at
intersection of top channels

TOP HAT

FIELD NOTCH
BACK LEG

TOP
VIEW

SIDE
VIEW

TEK SCREW #10 x ¾”
(HALLWAY APPLICATION)

PERCUSSION ½” FASTENER
(FLOOR ATTACHMENTS)

GENERAL NOTES:
1. Factory pre-�nished Glossy White Frames and Headers are standard.
2. Non Load Bearing Hallway Storage Unit Structure Shown

SWING DOOR HANDING
12

Left-Hand Reverse door shown

Secure (Hallway) Side

Latch
SideHinge

on Left

Storage Unit
Interior

PLAN VIEW
L.H.R. DOOR SHOWN

SINGLE
SHOE

1

2

3

4

6

7

8

10
12

13

14

SINGLE SWING
FRAME

9

29 GA. OR 26 GA. GALVALUME PARTITION
26 GA. GLOSSY WHITE CORRIDOR

22 GA. GALVALUME

16.0

GLOSSY WHITE
GLOSSY WHITE

GLOSSY WHITE GLOSSY WHITE

copyright  ©2023   Storage Components   All Rights Reserved

13

BURGLAR BARS

ROLL-UP DOOR ASSEMBLY

CORNER POST

TOP HAT

SINGLE
ROLLUP
FRAME

SINGLE SHOE

FLUSH HEADER PANEL

SINGLE BACKUP
PLATE

SINGLE BACKUP
PLATE

M-PANEL CORRIDOR WALL

BASE CHANNEL
KICKPLATE

CORNER POST

DOUBLE ROLLUP
FRAME

CORNER POST CORNER POST CORNER POST
CORNER POST

SINGLE BACKUP
PLATES

[ATTACH WITH  #10 X ¾” TEK SCREWS] SINGLE SHOE

SWING DOOR

DOUBLE SHOE

MIDSPAN CHANNEL

H
A

LL
W

AY
  S

YS
TE

M
 W

/ D
O

O
R

 

SE
LF

 S
TO

RA
G

E 
 C

O
RN

ER
 D

ET
A

IL

D
AT

E:
  0

5-
09

-2
3

PA
G

E/
FI

LE
6

1.0”

1.0”

0.5”

0.5”

1.5”



Outer Walk-Door View copyright  ©2023   Storage Components   All Rights Reserved

KICKPLATE

3 x 3  OUTSIDE
CORNER GUARD

BURGLAR BARS

CORNER POSTSCORNER POSTS

CORNER POSTS

M-PANEL
GLOSSY WHITE

M-PANEL

SINGLE SWING FRAME

SINGLE SWING FRAME

FLUSH
HEADER PANEL

TOP HAT

TOP HAT

SINGLE ROLL-UP
FRAME

DOUBLE
ROLL-UP
FRAME

SINGLE ROLL-UP
FRAME

FLUSH HEADER PANEL

Outer Roll-up Door View

TREADPLATE
CORNER COVER

H
A

LL
W

AY
  S

YS
TE

M
 W

/ D
O

O
R

 

SE
LF

 S
TO

RA
G

E 
 C

O
RN

ER
 D

ET
A

IL

D
AT

E:
  0

5-
09

-2
3

PA
G

E/
FI

LE
7



IN-FILL INSTALLATION NOTES: 

 
1. These door and hallway system instructions are intended for a professional installer such as a steel erector 

or door installer.  Please review ALL drawings and instructions before installation and layout. 
 

2. Upon receiving material, check quantities and items against the packing list to confirm all materials were 
received.  Stage in a dry area to minimize material movement and potential damage. 
 

3. Review unit drawing layout before commencing installation. Note that the finished hallway dimensions will 
be 4- ½” less than the rough hallway width due to the 2- ¼” bottom floor channel secured on each side of 
the hallway. 
 

4. Using a chalk line, mark the dimensions for the hallway 2- ¼” from a steel structure starting point.  Affix 
the hallway bottom channel between the steel structure and the edge of the chalk line. 
 

5. Anchor with supplied 0.75” shot and pin every 24” on center, or closer if needed.  Continue in the same 
manner with the unit partition Bottom Channel measuring the unit’s dimension from the back of the 
channel (already anchored to the front of the channel being laid out).  As plans indicate, affix the roll-up 
frame base channels accordingly with 3 shot and pin fasteners per base channel. 
 

6. Attach vertical starter angle to floor bottom channel.  Temporarily brace with 2”x 2” angle to reinforce and 
minimize flexibility.  Make sure the starter angle is plumb for easy top channel installation.  A starter angle 
is required between each individual unit. (Attachment done with #10 x ¾” Teks screws from top to bottom 
at 2’, 4’, and 6’ increments.) 
 

7. Securely affix the top hat channel to existing steel structures, starter angles, and/or roll-up frames so that 
the top of the channel is ½” higher than the specified hallway system height.  Ensure that the channel 
remains level to avoid ill-fitting corrugated panels (fasten with #10 x ¾” Teks screws).  Note:  Large 3.625” 
leg of top channel is attached towards storage unit side and short 2” leg faces into the hallway. 
 

8. Attach backup plate to roll-up frame with (4) #10 Teks screws – 2 per side.  Height of the backup plate is 
determined by the height of the header panel.  The top edge of the back plate should be flush with the top 
edge of the roll-up frame.  Install the roll-up frames relative to door opening size.  Stand the roll-up frame 
up with the back plate and fasten the assembly to the roll-up frame base channel.  Ensure that the frame is 
plumb, then fasten the top cap and corner angle. 
 

9. Install wall panels vertically into floor channel and top channel as recommended.  Level before fastening 
with #10 x ¾” Teks screws. 
a. For M-Panel, secure with 6 screws at the top, middle, and bottom – total fasteners being 18 per sheet.  

(See drawing (2) for detailed instructions and illustrations of channel installation). 
 

10.  Affix kick plates and corner guards upon completion of the hallway system. 
 

11.  Install “Mo-caps” on the back of ALL exposed screws. 


